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Question 1

Not yet answered
" “irked out of 1.00

2
f mdm 3a(603630) LEM®N 30LILN

Select one:
O a. 2arcsinx+c

(O b. 2arctg+c
(O €. 2arccosx+c

(O d. Z2arcctgx+c

Question 2

Not yet answered
Marked out of 1.00

f 2e” dx 3M603630) LEMGN 30LILN

Select one:
Oa —e'+c
O b. 2e* +c
O¢ e?+c
Od e +c
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Question 3

Not yet answered
Marked out of 1.00

[ —2—dz 306036300 LEOON 30LIbN

cos?zx
Select one:
O a. 3tgx+c

(O b. 3cosx+c
(O €. 3sinx+c

O d. Z2ctgx+c

Question 4

Not yet answered
Marked out of 1.00

f7cos:cd:c 3(603630) LEM®N 30LILN

Select one:
O a. Tsinx +c

O b. Tctgx + ¢
O ¢ Ttgr+c
O d. cosTx +c
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Question 5

Not yet answered
Marked out of 1.00

J T dz 8006036200 LEMEN 3LIb0

Select one:
O a. 10arcctgz + c

O b. 10arccosx + ¢
O ¢ 10arctgz + c
O d. 10arcsinz + c

Question 6

Not yet answered
Marked out of 1.00

[ Ldz 8603690 LEMGN 30LILN

Select one:
oa ;—2 +c
O b. din|z| + ¢
Oc —Adx+tc
O d. ;—3 +c
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Question 7

Not yet answered
Marked out of 1.00

[(2z — 3) sin zdz 309603690) LEMEN 30LIbN

Select one:
Oa —(2z—3)sinxz +2cosz +c

Ob (22 —3)sinxz +2cosz+c
O¢ —(2z—3)cosz+2sinz + ¢
O d (2z—3)cosz — 2sinz + ¢

Question 8

Not yet answered
Marked out of 1.00

[(2z — 1) cos zdz 3M6N3EI0 LEMGN 30bIbN

Select one:
Oa —(2z—1)cosz —2sinz + ¢

Ob —(2z—1)sinz —2cosz+c
O¢ (2¢—1)sinz+2cosz +c
Od (2z—1)cosz +2sinz +c
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Question 9

Not yet answered
Marked out of 1.00

f 4—$dx 3M603630 LHM®NO 30LILN
(@ 1)(@13)

Select one:

O a. -In|x-1]+3In|x+3|+C
O b. 2In|x-1][+3In|x+3|+C
O ¢ In|x-1[+2In|x+3|+C
O d. In|x-1]+3In|x+3|+C

Question 10

Not yet answered
Marked out of 1.00

[ ;’Eij i) dz 3M603690) LEMMN 39LIbN

Select one:
O a. SIn|x|-2In|x-4|+C

O b. In|x|+2In|x-4|+C
O ¢. -In|x|-4In|x-4|+C
O d. -2In|x|+3In|x-4|+C
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Question 11

Not yet answered
Marked out of 1.00

308003000 [V z - cosz?dx

Answer:

Question 12

Not yet answered
Marked out of 1.00

303MM30IN [ wcosrda

Answer:

« »
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